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3590 P, Q, R, S ZRDES(CHL. INODEAEHEDSE, BHAERCTTDHEESINTICON In the Land of Oz they never have two nice days in a row. If they have a nice day, they are just
T, CTOB=ZSTEEL. as likely to have snow as rain the next day. If they have snow (or rain), they have an even chance of

having the same the next day. If there is a change from snow or rain, only half of the time is this a

1 1 -1
3 -2 . . - . .
P ( I ) ’ 0= > 1 | R— ’ g change to a nice day. Suppose a,, by, ¢, are the probabilities that the nth day is a nice day, a snowy
L 5 -2 1 -1 day, or a rainy day, respectively.

a) Find the probability a,+1, bnt1, Crt1-

b) Find the probability a,+2, bn42, cn42 using matrix multiplication.
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